

Hermite–Fejer Polynomials as an Approximate Solution of Singular Integro-Differential Equations



Alexander Fedotov

Abstract For full singular integro-differential equations with Gilbert kernel, the collocation method is justified. The approximate solution is sought in the form of Hermite–Fejer polynomial. The convergence of the method is proved and the rate of convergence is estimated.

1 Introduction

Algebraic interpolation polynomials with multiple nodes, known as Hermite polynomials, are well-investigated and are successfully used to solve a wide range of application-oriented problems. Their trigonometric analogue is investigated much less and many questions concerning the existence, uniqueness, and approximate properties of such polynomials still remain open.

Early studies of trigonometric interpolation polynomials with multiple nodes apparently began toward the 30th years of the 20th century. S. M. Lozinsky [1] considered the approximation of the complex-variable functions regular in a single circle, and continuous on its boundary, by the trigonometric interpolation polynomials with multiple nodes located on a single circle's border. He was the first to call such polynomials Hermite–Fejer polynomials.

E. O. Zeel [2, 3], generalizing the results of the predecessors [4–7], proved the existence of the trigonometrical interpolation polynomials of the arbitrary multiplicity w.r.t. the system of the equidistant nodes for the real-valued 2π - periodic functions. Moreover, he showed the explicit form of the corresponding fundamental polynomials and established the conditions of uniform convergence of such polynomials to the interpolated function depending on the parity of its multiplicity and the smoothness of the interpolated function.

B. G. Gabdulkhayev [8] obtained in a convenient form the best, in the sense of an order, estimates of the speed of convergence of trigonometrical interpolation

A. Fedotov (✉)
Kazan Federal University, Kazan, Russia
e-mail: fedotovkazan@hotmail.com

polynomials of the first multiplicity to continuously differentiable functions. Also, in this work he investigated the properties of the quadrature formulas for Gilbert’s kernel singular integrals based on such polynomials. Relying on the results of [3] and using B. G. Gabdulkhayev [8] technique Yu. Soliyev [9, 10] investigated systematically quadrature formulas based on the interpolation polynomials of different multiplicity for singular integrals with Cauchy and Gilbert kernels.

In this paper the calculation scheme of the collocation method based on trigonometric interpolation polynomials with the multiple nodes for the full singular integro-differential equation in periodic case is constructed and justified. Convergence of the method is proved, and the errors of the approximate solution are estimated.

2 Statement of the Problem

Consider the singular integro-differential equation

$$\sum_{\nu=0}^1 (a_\nu(t)x^{(\nu)}(t) + b_\nu(t)(Jx^{(\nu)})(t) + (J_0h_\nu x^{(\nu)})(t)) = y(t), \quad t \in [0, 2\pi], \quad (1)$$

where x is a required function, a_ν, b_ν, h_ν (by both variables), $\nu = 0, 1$, and y are known 2π -periodic functions, singular integrals

$$(Jx^{(\nu)})(t) = \frac{1}{2\pi} \int_0^{2\pi} x^{(\nu)}(\tau) \cot \frac{\tau - t}{2} d\tau, \quad \nu = 0, 1, \quad t \in [0, 2\pi],$$

are to be interpreted as the Cauchy–Lebesgues principal value, and

$$(J_0h_\nu x^{(\nu)})(t) = \frac{1}{2\pi} \int_0^{2\pi} h_\nu(t, \tau)x^{(\nu)}(\tau)d\tau, \quad \nu = 0, 1, \quad t \in [0, 2\pi],$$

are regular integrals.

3 Calculation Scheme

Let’s denote \mathbb{N} the set of natural numbers, \mathbb{N}_0 the set of natural numbers with zero added, \mathbb{R} the set of real numbers \mathbb{C} the set of complex numbers.

Let’s fix the natural number $n \in \mathbb{N}$. An approximate solution of the Eq.(1) we seek as a Hermite–Fejer polynomial

$$x_n(t) = \frac{1}{n^2} \sum_{k=0}^{n-1} (x_{2k} + x'_{2k} \sin(t - t_{2k})) \frac{\sin^2 \frac{n}{2}(t - t_{2k})}{\sin^2 \frac{t - t_{2k}}{2}}, \quad t \in [0, 2\pi], \quad (2)$$

here $t_{2k}, k = 0, 1, \dots, n - 1$, are even numbered nodes of the mesh

$$t_k = \frac{\pi k}{n}, \quad k = 0, 1, \dots, 2n - 1. \quad (3)$$

Unknown coefficients $x_{2k}, x'_{2k}, k = 0, 1, \dots, n - 1$, of the polynomial (2) we find out as a solution of the system of the algebraic equations

$$\begin{aligned} \sum_{v=0}^1 (a_v(t_k)x_n^{(v)}(t_k) + b_v(t_k)(Jx_n^{(v)})(t_k) + (J_0 P_{2n}^\tau(h_v x_n^{(v)}))(t_k)) = \\ = y(t_k), \quad k = 0, 1, \dots, 2n - 1, \end{aligned} \quad (4)$$

where

$$\begin{aligned} P_{2n}^\tau(h_v x_n^{(v)})(t, \tau) = \frac{1}{2n} \sum_{k=0}^{2n-1} h_v(t, t_k) x_n^{(v)}(t_k) \frac{\sin n(\tau - t_k) \cos \frac{\tau - t_k}{2}}{\sin \frac{\tau - t_k}{2}}, \\ v = 0, 1, \quad t, \tau \in [0, 2\pi], \end{aligned}$$

is a Lagrange interpolation operator w.r.t. the nodes (3) applied by the variable τ to the functions $h_v x_n^{(v)}, v = 0, 1$, and

$$(Jx_n)(t_k) = \frac{1}{n} \sum_{j=0}^{n-1} (\alpha_{0,k-2j}^0 x_{2j} + \alpha_{0,k-2j}^1 x'_{2j}), \quad k = 0, 1, \dots, 2n - 1,$$

$$\alpha_{0,r}^0 = \{-\cot \frac{r\pi}{2n} \text{ for } r \neq 0, \quad 0 \text{ for } r = 0\},$$

$$\alpha_{0,r}^1 = \{-\frac{1}{n} \text{ for } r \neq 0, \quad 2 - \frac{1}{n} \text{ for } r = 0\};$$

$$(Jx'_n)(t_{2k}) = \frac{1}{n} \sum_{j=0}^{n-1} (\alpha_{1,2k-2j}^0 x_{2j} + \alpha_{1,2k-2j}^1 x'_{2j}), \quad k = 0, 1, \dots, n - 1,$$

$$(Jx'_n)(t_{2k+1}) = \frac{1}{n} \sum_{j=0}^{n-1} \alpha_{1,2k-2j+1}^0 x_{2j}, \quad k = 0, 1, \dots, n - 1,$$

$$\alpha_{1,r}^0 = \left\{ \csc^2 \frac{r\pi}{2n} \text{ for } r \neq 0, \quad -\frac{n^2-1}{3} \text{ for } r = 0 \right\},$$

$$\alpha_{1,r}^1 = \left\{ (-1)^r \csc \frac{r\pi}{2n} \text{ for } r \neq 0, \quad 0 \text{ for } r = 0 \right\};$$

$$(J^0 P_{2n}^\tau (h_\nu x_n^{(\nu)}))(t_k) = \frac{1}{2n} \sum_{j=0}^{2n-1} h_\nu(t_k, t_j) x_n^{(\nu)}(t_j), \quad \nu = 0, 1, \quad k = 0, 1, \dots, 2n-1,$$

are the quadrature formulae.

4 Some Preliminaries

Let's denote C the space of continuous 2π -periodic functions with usual norm

$$\|f\|_C = \sup_{t \in \mathbb{R}} |f(t)|, \quad f \in C.$$

For the fixed $m \in \mathbb{N}_0$ denote $C^m \subset C$ the set of the functions on \mathbb{R} with continuous derivatives of order m ($C^0 = C$). The norm on C^m we define as follows:

$$\|f\|_{C^m} = \max_{0 \leq \nu \leq m} \|f^{(\nu)}\|_C, \quad f \in C^m.$$

Let's denote H_α the set of Hölder continuous functions of order $\alpha \in \mathbb{R}, 0 < \alpha \leq 1$. For the function f of this set let's denote

$$H(f; \alpha) = \sup_{\substack{t \neq \tau \\ t, \tau \in \mathbb{R}}} \frac{|f(t) - f(\tau)|}{|t - \tau|^\alpha},$$

the smallest constant of Hölder condition of the function f . With the help of this constant we can now define the norm on the set H_α , namely,

$$\|f\|_{H_\alpha} = \max\{\|f\|_C, H(f; \alpha)\}.$$

From the set C^m , for the fixed $\alpha \in \mathbb{R}, 0 < \alpha \leq 1$, we can select the set of the functions H_α^m with derivatives of order m satisfying Hölder condition

$$|f^{(m)}(t) - f^{(m)}(\tau)| \leq H(f^{(m)}; \alpha) |t - \tau|^\alpha, \quad t, \tau \in \mathbb{R}.$$

The norm on the set H_α^m ($H_\alpha^0 = H_\alpha$) we define as follows:

$$\|f\|_{H_\alpha^m} = \max\{\|f\|_{C^m}, H(f^{(m)}; \alpha)\}.$$

Denote \mathcal{T}_n the set of all trigonometric polynomials of order not higher than n . For the follows we need 2 lemmas from the paper [11].

Lemma 1 *Let the numbers $\alpha, \beta \in \mathbb{R}, 0 < \alpha \leq 1, 0 < \beta \leq 1, m, r \in \mathbb{N}_0, m \leq r$, are such that $m + \beta \leq r + \alpha$. Then for any $n \in \mathbb{N}$ and any function $x \in H_\alpha^r$ the following estimate is valid¹:*

$$\|x - T_n\|_{H_\beta^m} \leq cn^{m-r-\alpha+\beta} H(x^{(r)}; \alpha),$$

where $T_n \in \mathcal{T}_n$ is a polynomial of the best approximation of the function x .

Lemma 2 *For any $n \in \mathbb{N}, \beta \in \mathbb{R}, 0 < \beta \leq 1$ and arbitrary trigonometric polynomial $T_n \in \mathcal{T}_n$ the following estimate is valid:*

$$\|T_n\|_{H_\beta} \leq (1 + 2^{1-\beta} n^\beta) \|T_n\|_C.$$

An operator P_{2n} is exact for any polynomial of order $n - 1$ and, as it is shown in [12, 13], has the following properties:

$$\|P_{2n}\|_{H_\beta^m \rightarrow H_\beta^m} \leq c \|P_{2n}\|_{C \rightarrow C} \leq c \ln n \tag{5}$$

for any $n \in \mathbb{N}, n \geq 2, \beta \in \mathbb{R}, 0 < \beta \leq 1$, and arbitrary fixed number $m \in \mathbb{N}$.

5 Justification

Theorem 1 *Let the Eq. (1) and the calculation scheme (2)–(4) of the method satisfy the following conditions:*

A1 *functions $a_\nu, b_\nu, \nu = 0, 1$, and y belong to H_α for some $\alpha \in \mathbb{R}, 0 < \alpha \leq 1$; functions $h_\nu, \nu = 0, 1$, belong to H_α with the same α for each variable uniformly w.r.t. other variable,*

A2 $a_1^2(t) + b_1^2(t) \neq 0, \quad t \in [0, 2\pi],$

A3 $\kappa = \text{ind}(a_1 + ib_1) = 0,$

A4 *an Eq. (1) has a unique solution $x^* \in H_\beta^1$ for each right-hand side $y \in H_\beta, 0 < \beta < \alpha \leq 1$.*

Then for n large enough the system of equations (4) is uniquely solvable and approximate solutions x_n^ converge to the exact solution x^* of the Eq. (1) by the norm of the space H_β^1*

$$\|x^* - x_n^*\|_{H_\beta^1} \leq cn^{-\alpha+\beta} \ln n, \quad 0 < \beta < \alpha \leq 1.$$

Proof Let's show first that the assumption **A4** of the Theorem 1 is not empty in the sense that there exist the equations of the class considered satisfying **A4**.

¹Here and further c denotes generic real positive constants, independent from n .

In fact, consider an equation

$$a_1(t)(x'(t) + x(t)) + b_1(t)((Jx')(t) + (Jx)(t)) = y(t), \quad t \in [0, 2\pi]. \quad (6)$$

It is known [14], that the characteristic operator

$$Bx \equiv a_1(t)x(t) + b_1(t)(Jx)(t), \quad B : H_\beta \rightarrow H_\beta,$$

of the Eq. (6) is invertable, and an inverse operator $B^{-1} : H_\beta \rightarrow H_\beta$ could be written explicitly. Now apply the operator B^{-1} to both sides of the Eq. (6). Then we'll get an equivalent equation

$$x'(t) + x(t) = (B^{-1}y)(t), \quad t \in [0, 2\pi]. \quad (7)$$

In the couple of the spaces (H_β^1, H_β) , an Eq. (7) is a Fredholm equation. Homogeneous equation

$$x'(t) + x(t) = 0, \quad t \in [0, 2\pi],$$

in the space of the real-valued functions has a solution $x(t) = ce^{-t}$, $t \in [0, 2\pi]$. However, this solution is not periodic for $c \neq 0$, so the only suitable value is $c = 0$. It means that in the space of the periodic functions H_β^1 the homogeneous equation has the only zero solution $x(t) = 0$, $t \in [0, 2\pi]$, and it means that the Eq. (7), and thus the Eq. (6), are uniquely solvable for any right-hand side $y \in H_\beta$, $0 < \beta < \alpha \leq 1$.

For the following part of the proof of the Theorem 1 we'll use the method described in [15, 16].

Let's fix $\beta \in \mathbb{R}$, $0 < \beta < \alpha \leq 1$, and let $X = H_\beta^1$, $Y = H_\beta$. Then the Eq. (1) can be rewritten as an operator equation

$$Qx = y, \quad Q : X \rightarrow Y. \quad (8)$$

For each function $x \in X$ we'll match the Cauchy integral

$$\Phi(z) = \Phi(x; z) = \frac{1}{2\pi} \int_0^{2\pi} \frac{x(\tau)d\tau}{1 - z \exp(-i\tau)}, \quad z \in \mathbb{C}.$$

Denote $x^+(t)$ $x^-(t)$ the limit values of the function $\Phi(z)$ as z trends to $\exp(it)$ by any ways inside and outside unit circle correspondently. For the functions x^+ and x^- the following Sokhotsky's formulae are valid means identical operator.

$$x^\pm(t) = \frac{1}{2}((\pm I - iJ)x)(t) + \frac{1}{2}J_0x, \quad t \in \mathbb{R}. \quad (9)$$

Differentiating (9) and using known formulae

$$(x'(t))^\pm = (x^\pm(t))', \quad (Jx)'(t) = (Jx')(t),$$

we'll obtain

$$x'(t) = x'^+(t) - x'^-(t), \quad (Jx')(t) = i(x'^+(t) + x'^-(t)). \quad (10)$$

From the conditions **A2**, **A3**, according to [17] it follows

$$\frac{a_1 - ib_1}{a_1 + ib_1} = \frac{\psi^+}{\psi^-},$$

where

$$\psi(z) = e^{\theta(z)}, \quad \theta(z) = \Phi(u; z), \quad u = \ln \frac{a_1 - ib_1}{a_1 + ib_1}, \quad z \in \mathbb{C}.$$

Then, using (10), the characteristic operator of the Eq. (1) can be rewritten [14, 17] as

$$a_1(t)x'(t) + b_1(t)(Jx')(t) = \frac{(a_1(t) + ib_1(t))}{\psi^-(t)}(\psi^-(t)x'^+(t) - \psi^+(t)x'^-(t)).$$

The Eq. (1) or, in other notation, the Eq. (8) we rewrite as an equivalent operator equation

$$Kx \equiv Ux + Vx = f, \quad K : X \rightarrow Y, \quad (11)$$

where

$$Ux = \psi^-x'^+ - \psi^+x'^-, \quad Vx = Ax + Bx + Wx,$$

$$Ax = v^{-1}a_0x, \quad Bx = v^{-1}b_0Jx, \quad Wx = v^{-1} \sum_{\nu=0}^1 J^0 h_\nu x^{(\nu)},$$

$$f = v^{-1}y, \quad v = \frac{a_1 + ib_1}{\psi^-},$$

and according the condition **A2** of the Theorem 1, $v(t) \neq 0$, $t \in [0, 2\pi]$. An equivalence here means that the Eqs. (1) and (11) are both solvable or not solvable simultaneously and, if they are solvable, their solutions coincide.

Let $X_n \subset \mathcal{T}_n$ be the set of trigonometrical polynomials of the form (2), and $Y_n = P_{2n}Y \subset \mathcal{T}_n$. Then the system of equations (4) is equivalent to the operator equation

$$K_n x_n \equiv U_n x_n + V_n x_n = f_n, \quad K_n : X_n \rightarrow Y_n, \quad (12)$$

where

$$U_n = P_{2n}U, \quad V_n x_n = P_{2n}Ax_n + P_{2n}Bx_n + W_n x_n,$$

$$W_n x_n = P_{2n} \sum_{v=0}^1 J_0(P_{2n}^\tau(h_v x_n^{(v)})), \quad f_n = P_{2n}f.$$

Here an equivalence means that if the system of equations (4) has a solution $x_{2k}^*, x_{2k}'^*$, $k = 0, 1, \dots, n-1$, then the Eq. (12) will also have a solution which coincides with the polynomial

$$x_n^*(t) = \frac{1}{n^2} \sum_{k=0}^{n-1} (x_{2k}^* + x_{2k}'^* \sin(t - t_{2k})) \frac{\sin^2 \frac{n}{2}(t - t_{2k})}{\sin^2 \frac{t - t_{2k}}{2}}, \quad t \in \mathbb{R}.$$

Let's prove now that the operators K and K_n are close to each other on X_n .

For any $x_n \in X_n$, using the polynomial of the best approximation $T_{n-1} \in \mathcal{T}_{n-1}$ for the function Ax_n , we'll have

$$\|Ax_n - P_{2n}Ax_n\|_Y \leq (1 + \|P_{2n}\|_{Y \rightarrow Y}) \|Ax_n - T_{n-1}\|_Y. \quad (13)$$

Now, taking into account the structural qualities of the function Ax_n , we can estimate

$$H(Ax_n; \alpha) \leq c(\|x_n\|_C + \|x_n'\|_C) \leq c\|x_n\|_X. \quad (14)$$

From (13), using Lemma 1, an estimation (5), and in view of (14) we have

$$\|Ax_n - P_{2n}Ax_n\|_Y \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \quad (15)$$

In the same way, we obtain

$$\|Bx_n - P_{2n}Bx_n\|_Y \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \quad (16)$$

Considering the trigonometrical degree of accuracy of the quadrature formulae for the regular integrals used in (4) we can write

$$\begin{aligned} \|Wx_n - W_n x_n\|_Y &\leq \left\| \sum_{v=0}^1 J^0 h_v x_n^{(v)} - P_{2n} \sum_{v=0}^1 J^0 P_{2n}^\tau(h_v x_n^{(v)}) \right\|_Y \leq \quad (17) \\ &\leq \left\| \sum_{v=0}^1 J^0 h_v x_n^{(v)} - P_{2n} \sum_{v=0}^1 J^0(h_v x_n^{(v)}) \right\|_Y + \left\| P_{2n} \sum_{v=0}^1 J^0(x_n^{(v)}(h_v - P_{2n}^\tau h_v)) \right\|_Y. \end{aligned}$$

Now, using the polynomial of the best uniform approximation $T_{n-1} \in \mathcal{T}_{n-1}$ for the function $\sum_{v=0}^1 J^0 h_v x_n^{(v)}$, we get

$$\left\| \sum_{v=0}^1 J^0(h_v x_n^{(v)}) - P_{2n} \sum_{v=0}^1 J^0(h_v x_n^{(v)}) \right\|_Y \leq (1 + \|P_{2n}\|_{Y \rightarrow Y}) \left\| \sum_{v=0}^1 J^0 h_v x_n^{(v)} - T_{n-1} \right\|_Y. \quad (18)$$

Considering the structural qualities of the function $h_v(t, \tau)$ by the variable t , it is easy to show that

$$H\left(\sum_{v=0}^1 J^0(h_v x_n^{(v)}); \alpha\right) \leq c \sum_{v=0}^1 \|x_n^{(v)}\|_C \leq c \|x_n\|_X. \quad (19)$$

From (18) and (19), using Lemma 1 and an estimation (5), we get

$$\left\| \sum_{v=0}^1 J^0 h_v x_n^{(v)} - P_{2n} \sum_{v=0}^1 J^0 h_v x_n^{(v)} \right\|_Y \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \quad (20)$$

Further, taking into account the structural qualities of the functions $h_v(t, \tau)$ by the variable τ , error estimations of the quadrature formulae, and Lemma 2, for the second summand of the right-hand side of the estimate (17) we get

$$\begin{aligned} & \|P_{2n} \sum_{v=0}^1 J^0(x_n^{(v)}(h_v - P_{2n}^\tau h_v))\|_Y \leq \\ & \leq c(n^\beta \ln n) \left\| \sum_{v=0}^1 J^0(x_n^{(v)}(h_v - P_{2n}^\tau h_v)) \right\|_C \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \end{aligned} \quad (21)$$

Finally, using the estimate (17), (20), and (21), we get

$$\|Wx_n - W_n x_n\|_Y \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \quad (22)$$

Let's denote $\psi_{n-1}(t) \in \mathcal{T}_{n-1}$ the polynomial of the best uniform approximation of the function $\psi(t)$. Using an auxiliary operator

$$\bar{U}_n : X_n \rightarrow Y_n, \quad \bar{U}_n x_n = \psi_{n-1}^- x_n'^+ - \psi_{n-1}^+ x_n'^-,$$

we get

$$\|Ux_n - U_n x_n\|_Y \leq (1 + \|P_{2n}\|_{Y \rightarrow Y}) \|Ux_n - \bar{U}_n x_n\|_Y. \quad (23)$$

Futher, we have

$$\|Ux_n - \tilde{U}_n x_n\|_Y \leq \|(\psi^- - \psi_{n-1}^-)x_n'^+\|_Y + \|(\psi^+ - \psi_{n-1}^+)x_n'^-\|_Y. \quad (24)$$

Each summand of the right-hand side of (24) we estimate, using Lemma 1 as follows:

$$\|(\psi^\mp - \psi_{n-1}^\mp)x_n'^\pm\|_Y \leq \|\psi^\mp - \psi_{n-1}^\mp\|_Y \|x_n'^\pm\|_Y \leq cn^{-\alpha+\beta} \|x_n\|_X. \quad (25)$$

Now by using (24), (25), and (5) we can rewrite inequality (23) as

$$\|Ux_n - U_n x_n\|_Y \leq c(n^{-\alpha+\beta} \ln n) \|x_n\|_X. \quad (26)$$

And finally, using estimations (15), (16), (22), and (26), we get

$$\|K - K_n\|_{X_n \rightarrow Y} \leq cn^{-\alpha+\beta} \ln n.$$

As the operators Q and K are both invertable and the inverse operator Q^{-1} is bounded, then

$$\|K^{-1}\|_{Y \rightarrow X} \leq \|v\|_Y \|Q^{-1}\|_{Y \rightarrow X} \leq c. \quad (27)$$

So there exists $n_0 \in \mathbb{N}$ such that for all $n \in \mathbb{N}$, $n \geq n_0$,

$$\|K^{-1}\|_{Y \rightarrow X} \|K - K_n\|_{X_n \rightarrow Y} \leq cn^{-\alpha+\beta} \ln n \leq \frac{1}{2}.$$

For such n according to the Theorem 1.1 of the paper [16] there exist the operators $K_n^{-1} : Y_n \rightarrow X_n$, and they are bounded. Moreover, for the right-hand sides of the Eqs. (11), (12), using the condition A1 of the Theorem 1, Lemma 1 and estimation (5), we have

$$\|y - y_n\|_Y = \|y - P_{2n}y\|_Y \leq cn^{-\alpha+\beta} \ln n. \quad (28)$$

Now, using the corollary of the Theorem 1.2 [16], for the solutions x^* and x_n^* of the Eqs. (11), (12), taking into account (27), (28), we'll find

$$\|x^* - x_n^*\|_X \leq cn^{-\alpha+\beta} \ln n.$$

The Theorem 1 is proved. \square

Corollary 1 *If, in the conditions of the Theorem 1, the functions a_v , b_v , h_v (by both variables), $v = 0, 1$, and y belong to H_α^r , $r \in \mathbb{N}$. Then the approximate solutions x_n^* converge to the exact solution x^* of the Eq. (1) as $n \rightarrow \infty$ by the norm of the space H_β^1 as follows:*

$$\|x^* - x_n^*\|_{H_\beta^1} \leq cn^{-r-\alpha+\beta} \ln n, \quad r + \alpha > \beta. \quad (29)$$

Proof Using the Theorem 6 from [15], we can write

$$\|x^* - x_n^*\|_X \leq (1 + \|K_n^{-1} P_{2n} K\|) \|x^* - \bar{x}_n\|_X + \|K_n^{-1}\| \|K_n \bar{x}_n - P_{2n} K \bar{x}_n\|_Y, \tag{30}$$

where \bar{x}_n is an arbitrary element of the space X_n . Under corollary 1 conditions the solution x^* of the Eq. (1) is so, that $x^{*\prime} \in H_\alpha^r$ for $0 < \alpha < 1$ and $x^{*(r+1)} \in Z$ for $\alpha = 1$ (Z means Zigmund class of the functions). Then, taking for the $\bar{x}_n \in \mathcal{T}_n$ the polynomial of the best uniform approximation for the function x^* and using Lemma 1, for the first summand of the right-hand side of (30) we'll obtain

$$(1 + \|K_n^{-1} P_{2n} K\|) \|x^* - \bar{x}_n\|_X \leq cn^{-r-\alpha+\beta} \ln n. \tag{31}$$

Taking into account the structural qualities of the functions $h_\nu(t, \tau)$, $\nu = 0, 1$, by the variable τ , the error estimation of the quadrature formulae, using Lemma 2 and estimation (5) for the second summand of the right-hand side of the inequality (30), we get

$$\begin{aligned} \|K_n \bar{x}_n - P_{2n} K \bar{x}_n\|_Y &= \|W_n \bar{x}_n - P_{2n} W \bar{x}_n\|_Y \leq \tag{32} \\ &\leq \|P_{2n} \sum_{\nu=0}^1 J_0(\bar{x}_n^{(\nu)})(h_\nu - P_{2n}^\tau h_\nu)\|_Y \leq \\ &\leq c(n^\beta \ln n) \left\| \sum_{\nu=0}^1 J_0(\bar{x}_n^{(\nu)})(h_\nu - P_{2n}^\tau h_\nu) \right\|_C \leq c(n^{-r-\alpha+\beta}) \ln n \|\bar{x}_n\|_X. \end{aligned}$$

Now, substituting estimations (31) and (32) in (30), and taking into account, that

$$\|\bar{x}_n\|_X \leq \|x^*\|_X + \|x^* - \bar{x}_n\|_X \leq \|x^*\|_X + cn^{-r-\alpha+\beta},$$

we get an estimation (29). Corollary 1 is proved. □

References

1. Lozinsky, S.M.: On the Fejer's interpolation process. Dokl. Math. **24**(4), 318–321 (1939) (in Russian)
2. Zeel, E.O.: On trigonometric $(0, p, q)$ -interpolation. Russ. Math. **3**, 27–35 (1970). (in Russian)
3. Zeel, E.O.: On multiple trigonometric interpolation. Russ. Math. **3**, 43–51 (1974). (in Russian)
4. Kish, O.: On trigonometric $(0, r)$ -interpolation. Acta Math. Acad. Scient. Hung. **11**(3–4), 243–276 (1960)
5. Sharma, A., Varma, A.K.: Trigonometric interpolation. Duke Math. J. **32**(2), 341–357 (1965)
6. Varma, A.K.: Trigonometric interpolation. J. Math. Anal. Appl. **28**(3), 652–659 (1969)
7. Salzer, H.E.: New formulas for trigonometric interpolation. J. Math Phys. **39**(1), 83–96 (1960)
8. Gabdulkaev, B.G.: Multiple nodes quadrature formulae for the singular integrals. Dokl. Math. **227**(3), 531–534 (1976) (in Russian)

9. Soliev, Yu.: On the quadrature and cubature formulae for Cauchy kernel singular integrals. *Russ. Math.* **3**, 108–122 (1977). (in Russian)
10. Soliev, Yu.: On interpolative multiple nodes cubature formulae for singular integrals. *Russ. Math.* **9**, 122–126 (1977). (in Russian)
11. Gabdulkaev, B.G.: Approximation in H spaces and applications. *Dokl. Math.* **223**(6), 1293–1296 (1975) (in Russian)
12. Gabdulkaev, B.G.: Finite-dimensional approximations of the singular integrals and direct methods for solving singular integral and integro-differential equations. In: *Itogi nauki i tekhniki. Ser. matem. analys.* **18**, pp. 251–307. VINITI, Moscow (2002) (in Russian)
13. Gabdulkaev, B.G.: *Optimal Approximation of the Solutions Of Linear Problems*. Kazan university publishing office, Kazan (1980)
14. Gakhov, F.D.: *Boundary Value Problems*. Pergamon Press, Oxford (1966)
15. Gabdulkaev, B.G.: Some problems of the theory of approximate methods, IV. *Russ. Math.* **6**, 15–23 (1971). (in Russian)
16. Gabdulkaev, B.G.: Direct methods for solving some operator equations, I–IV. *Russ. Math.* **11**, 33–44 (1971) (in Russian); *Russ. Math.* **12**, 28–38 (1971) (in Russian); *Russ. Math.* **3**, 18–31 (1971) (in Russian); *Russ. Math.* **4**, 32–43 (1971) (in Russian)
17. Muskhelishvili, N.I.: *Singular Integral Equations*. Noordhoff, Groningen, Holland (1953)